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Answer: Second degree AV block / (Mobitz I1)
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Answer: Second degree AV block / (MobitzI)

Answer: Normal sinus rhythm
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Answer: Second degree AV block / (MobitzI)

Answer: Normal sinus rhythm
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Answer: Second degree AV block / (Mobitz II)
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Answer: Second degree AV block / (MobitzI)

O ‘copp&é\ QR |
—7{:\3\%}‘( )\a@\)\ Qw D\oxe k\\h( \\(\QSQQ)\&Q w k(\\'\Q ?@ BQQSN\'\W\Y_S

\Dedore e 8@ DM :

- {HealthandWiliness.org |

I

Answer: Normal sinus rhythm
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Answer: P mitral seen (LA enlargement) / Left axis deviation / First degree AV block
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Answer: Second degree AV block / (Mobitz I)
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Answer: Second AV block / (MobitzI)
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Answer: ST-segment elevation seen on leads I/aVL/V5/V6: Lateral-wall Ml
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Answer: Left bundle branches block (LBBB)
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Answer: nght bundle branches block (RBBB)
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Answer: ST segment elevation seen on II/lll/aVF: Inferior-wall Ml
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Answer: ST segment elevation seen on V2/V3/V4/V5: Anteroseptal Ml




Answer: ST segment elevation seen on lI/lll/aVF: Inferior-wall Ml
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Answer: ST segment depression

i eaeey dizeee deseed fhesce) dhamss duzesi dlnee d

Pewws OV 1SGH: O05C 1251250 CID} EDD 602 EDT 23:11 15-MAR-2005 ORDER.

Answer: ST segment elevation seen on Il/lll/aVF: Inferior
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Answer: ST segment elevation seen on V2/V3/V4/V5/V6/1/aVL: anterolateral
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Answer: T wave inversion post-acute Ml associated with prolonged QTc interval (0.54 s)
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Step 6: Evaluate the T Waves

When examining the T waves:

e Are T waves present?

¢ Do all the T waves have a normal shape?

¢ Do all the T waves have a normal amplitude?

e Areall T waves consistent in amplitude?

e Do the T waves have the same deflection as the QRS complexes? (i.e., if QRS is
upright, T should also be upright, unless abnormal).

Step 7: Determine the Duration of the QT Interval
To measure the QT interval:

1. Count the number of small squares between the beginning of the QRS complex and the
end of the T wave, where the T wave returns to the baseline.

2. Multiply the number of small squares by 0.04 seconds to calculate the duration.

3. Ask yourself:

o Is the QT interval duration normal (0.36 to 0.44 seconds)?
—_—~

Correcting the QT Interval (QTc)

The QT interval is influenced by the heart rate. As the heart rate increases, the QT interval
shortens, and as the heart rate decreases, the QT interval lengthens. To account for these changes
and evaluate the QT interval consistently, it is corrected to a standard heart rate of 60 beats per
minute. This corrected QT interval is known as QTec.

——

Formula for Corrected QT (QTc):

The most commonly used formula for calculating QTe:

QT
~IZIZ interval

Qe —
Where:

e QT = the measured QT interval in seconds
« RR interval = the time between two consecutive R waves, also in seconds

Sarah Basel, MD
University of Jordan, School of Medicine
Department of Physiology, 2024



e Correction for the QT interval is necessary, as it varies with heart rate.

e QTc=QTinterval /YRR interval (seconds)
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Answer: QTc = QT interval /YRR interval (seconds)= 0.67 s (prolonged)
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Answer: Right bundle branches block (RBBB)
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Fatima Ryalat, MD, PhD
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